SSLC MODEL EXAMINATION FEBRUARY - 2019
MATHEMATICS - ANSWER KEY

BINOYI PHILIP, GHSS KOTTODI-9446270923

1. (a) 10
(b) 103

2. (a) <BOD = 120°
(b) <C = 120°

3.P(x) =5x>-4x* +x -k
P()=5x1°—4x12+1-k=0
5-4+1-k=0
k=2

4. (a) eroo = 3v2 cm
(b) 3V2, 0)

(3.3

3v2 !
|3
1

(3v2, 0)

5. (a) 221DEEROMR BT AICH1H]
mIso = 2V2 cm
(b) MVD2IDOIRA QS 2 10B0INOM
mIgo = 5V2 cm




8. X,=5n+4
(a) @RByaIBo=9
(b) arymyoavo =10d =10x 5= 50
(€) mElL $00aMo HAID@AI®INMVAIW 5 60§ Wemlmae) 368

9. ol = X

Mgo =X + 6

X(x + 6) =1216

x? +6x =1216

X2+ 6x+9=1216+9=1225
(x +3)* = 1225

X+3=V1225=+35

x+3=35x=35-3=32
x+3=-35 x=-35-3=-38

ie aflo = 32
Mlgo = 32 + 6 =38

10. (a) <D = 30° (860 2190 10®10E! GH06ME:U3)
(b) <ABD = 90° (@rdevQ)omamlael ¢e:6m)
(c) 8cm

11. (8) PA=4cm
(b) APAC @es aloajgal’ =% x4 x 3 =6 cm’
ie PACB @os aloqjgal=2 x 6 = 12 cm®

12. (a) 7.8
(1,3)
(b) (1,8) (7,8)
1,3 7.3

(c) aN@demomend Migo = V 6° + 57 = V 36 + 25 = V61 qemlg”

13.P(x) =ax* - x*—bx -1
(P(1)=ax1®*-1*-bxl-1=a-1-b-1

=a-b-2
(b) x = 1 caisgmmo@@Imocd P(1) = 0 eywlalgo
iea-b-2=0
iea—b=2

(0) x + 1 ca1s®:m0@0@3 P(— 1) = 0 ernolaigoe
ieax (-1P°-(-1P*-bx(-1)-1=0
—a—-1+b-1=0
ieb—a=2
(d) ce1sesmrgoB;1El
®006Moa—b =2 9ob—a=2 9o @RGHOMES ANWOMIG3 EME” TVoaLYBUD BeNZallS1Hndd alolel

14. r=12cm,h=6 cm
(a) argoato = 1/3 mr’h = 1/3 x m x 12* x 6 =288n cm’®

(b) R:12hcrn,H=6cm,h=3cm 3 em
I‘=

I
=

~ ok =l
& o
N

cm
(c) ayongo = 1/3mr*h = 1/3 x mx 6% x 3 = 36m cm® —
(d) @wowoemicwo = 36m: 288w =1:8




15. (a) B(8, 5) 90 BE = 3 90 ayo®lmoas E(11, 5)
ieC(11,9)
(b) D(6, 9)
(0) aNedapeemud @s51agam miag awsmag GrICIYe
ie AC @os awymiaz (11 +3 ,9 +5) 4
2 2
=7

D(6, 9) C(11, 9)

A3, 5) B(8, 5) 3 E(11, 5)

16.

17.(a) tan x’ = a/b

(b) sin x° = a/c
cos x° = b/c

() sinx’=a/c =a/b = tanx°
cos x” b/c

18. @By MVoaI WeS Ga0B0 = X GRYWIGI MMNINODD MVoRIYQNS GadBo = X + 2

(@ 1+ _1 =5
X X+ 2 12
x+tx+2 =5
X(x +2) 12

12(2x + 2) = 5(x* + 2x)
5x*—14x-24=0
(b)x=40Rx=-6/5
ie @amavoay»d 1, _1
4 6

19.(a 8 = 1
X 4
x =32
ie @RYEOB a1 U3 = 32
(b)24_=3
32 4
©L+3 =1
4 4
d1=-a = b—a
b b

20. (a) yo»om1@3
(b) yomom©
(€) aNe:3emeERud LlomITLAGIRIB80@IMITI QINEBRUE QIR CIEPD QYODEBBUD afld36NEBSOS
Mowamale)ns &S Galddso.




21.(a) 3,5, 7, ......

(b)Xps=2n+1
(c)Xn=2n+1
6

(d) @rowvo 6 9§ YEMIWRVHM BT AI@ED AGFPTTVoAIYHUS 13RSIV AICIHVSS.
2n + 1 8@ sgavoaly GR@IMI@ 6 613 wanl®aosslel.
ie ag)ern@aMVoaIy U3 al3EBR8IV] O_I(Z)l%.

22.
€gVeld) ag)emo @mMYoad ag)emo
0-10 5 10 @3 ®oe 5
10-20 9 20 @3 ™oy 14
20-30 10 30 @3 ™o 24
30-40 9 40 @3 @0y 33
40 - 50 8 50 @3 ®oee 41

(a) 21-20 6O® &:51WOS GTYIG BRYEM” AW PAOW] AUGBIND”
(b)d=10/10=1
21-90 6@ 3:g1QOS 6@ 20 avo 21 Mo aewy ERVIGIYo
ie 20. 5 GRVIGIYo
(€) 21-20 o> @:5)WOS 6YIB ARBYale 20.5 Do HaN®AII®LOMV0 1 Do ERH® TVMVNEEYHIMIWOS
7-%0 alBo GRVIBIMo
ie205+6x1=26.5
ie awymo = 26.5

23.1=13cm,h=12 cm
(a) @poo r=V1*—h?
=132 -122
=5cm
(b) 2nr’ = 2 x  x 5
= 50n cm?
(¢) mrl =5 x mx 13 = 651 cm?
2a101MEl al0q|80l'= @RARLENIZOT]HM AUG®E! aldqsal’ + (ymagnﬂ‘ﬁ;@g@s N GIOT=TN (LY ol
=2mr? + mrl = 501 + 651 = 1151 cm?

24. 7cm, 6cm, 5cm QEBRBS (@EH06Mo
QlOQ D
Qene” GBSO GHIam TVnEIZ]
QIO
G06MIVLARI B3 2:glagam milag
CH@BRIAP] QINEBBOHS H@IFAN YO0 QIR S g

25. G))

(b) BC = 20m, <CBD = 45° epo@1mocd
CD=20m
ie odglsomload owoo = 20 m
OMNS]ISEBBOS DVWOBBU DEIYNOVG MG
AE=20m

ie AB =20V3m 20m

o&:S1SERUS Mmarle)ss @d:elo = 20 + 20V3
=20(1+V3)m

20m

20v3m B 20m




26. (a) <A=<C
(b)<D=<B
(c)PDx PC=PAxPB
PDx4=8x6
PD=12cm
(d) AAPD , ACPB a1@116m12j0@8 @506Mé:03 @L1n00@1mMIcs ol MUEUEBRSe”
ieAP = PD = AD
PC PB BC

8 =AD
4 4
AD=8cm

27.Se=45,S;3=171
(@) 10 g@@3 18 c100Wss «136B8OS @ = Sis — Sy = 171 — 45 = 126
(b) Xs= Se=45 =5

9 9
(C) Xy = ﬁ =14
9
(d) 5 a®@} 14 0100QSS a136B86s @@ = 10/2(Xs + Xi4)
=5(5 + 14)
=5x19=95
28. (@) A(-3,-3)
B (3,-3)
C(3,3
D(-3, 3)

(b) BD @os oa1@lorm=Y,-Y; =3--3 =6 = -1

X,-Xy -3-3 -6
BD oleel a@ ma (X, y) aogoa enflg B(3, -3)  eaiclaim = -1

Y,-Y, =_-1
X — X1
y—-3 = -1
Xx-3
y+3=-1(x-3)

BD @es avaangye x +y =0

29.(@)3+4+5=12=1+2=3
b)9+2+7=18=1+8=9
(c)9x3=27=2+7=9
(d6+3+x+5=8
14+x=8
1+4+x=8
5+x=8
x=8-5=3
eA+2+1)O+2)=1+1+x+3+2
4(1+1)=7+x
4x2=7+x
8=7+x
x=1
(f)axb @es alelgod 5" = 5x 2 o3 aleRlg@d Qs”
=10 903 aw=1g@d Qg
=1+0=1




